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Let’s say our problem is to find the series of edits between String 1 = testing and String 2 =
aaatestingaa. This is the final test case in testData.txt. The correct answer is dddmmmmmmmdd.

The following is the dynamic programming table generated for this instance. My implementation has
the “empty” row and column; your implementation may not.

alalal|t|e|ls|t|]i|n|lg | a]|a
0112345678910 11 |12
t]1(1(2(3]34|5|6|7|8] 9 |10]11
e|2(2|213(4(3|4|5]6|7|8]9]10
s|3(13(3|3(4[|4(3[4|5]6| 7|89
t|14(414(413|4[4(3|4|5|6 | 7] 8
i|b|5|H5|5|4(4]|514]3|4| 5|67
n|{6|6/6|6|5|5|b5|5|4(3|4 |5 |6
gl 7| 7|T7T|7|6]6|6|6|5|4|3 |45

The following is the tree of recursive calls for the same example, with Stringl = testing and String2
= aaatestingaa. In each tree node I have written both strings (labelled ‘1’ and ‘2’), as well as the solution
string (labelled ‘S’). The following tree is for my implementation, and may not be identical to yours. (In
particular, my base case had Stringl of length 1 or String?2 of length 0; furthermore I rounded down when
dividing Stringl.)



1:testing
2:aaatestingaa
S:dddmmmmmmmdd

1:tes
2:aaates
S:dddmmm

1:ting
2:tingaa

S:mmmmdd




